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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. This paper is divided into two sections, A and B. Each question in Section A
carries 15 marks. Answer any one question from section A.

3. Each question in section B carries 20 marks. Answer any three questions from
section B.

4.  Answer four questions in ail.

5. Note: Answers may be written either in English of in Hindi; but the same medium
should be used throughout the paper.
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SECTION A/ At &

“There is much more to the deindustrialization debate than just measuring
the number of looms or calculating the employment in traditional industry.”
Discuss.
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Do you think that the demise of the British colonial rule in India in 1947 was a
culmination of internal contradictions inherent in its objectives and the increasing
economic irrelevance of India to the Empire ? Discuss.

“Inae R ¥ T4 1947 ¥ 9Ra ¥ ffew stufRfier e @ w wEt @ Ak 3
& wicelear T amrem | W =1 ear e - yrifieea w1 B R 77 - =me
FIT |

Do you agree with the view that there was limited industrialization in India
during the British period because India was ‘too backward to industrialise’ ?
Elaborate.
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SECTION B / sI9T @

“There were significant limits on growth and development of manufacturing
enterprises in India during the first haif of the nineteenth century, the most critical
being the policies of English East Company State, which ruled India until 1858.”

Discuss.
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Trace the changing pattern of commodity and country composition of India’s
foreign trade during the period 1850 to 1914. In this regard briefly discuss how
the interwar period differed from the pre First World War period. Outline the

causes for the changes.
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Briefly distinguish between the two distinct phases of population growth in India
as estimated by population census during British rule. Comment on the
controversies surrounding the reasons for decline in mortality rate in the second

phase.
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What were the causes of agricultural stagnation in colonial India ? In this context,

comment on the contention that commercialisation was a stimulus for agricultural

growth and not a cause of its slowdown.
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“In the first half of the twentieth century, it was the Indian entrepreneur rather
than the British one who responded creatively to opportunities for industrial

investment.” Discuss.
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How did the organization of the labour force constrain the ‘rationalization’ of the
Bombay textile industry in the interwar period ? How did this affect industrial

relations in the industry ?
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In what manner did the railways affect industrialisation and employment creation

in the Indian economy during the colonial period ?
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